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Q:13-
�

������
,

�

������
,

��

������	
and 

��� ��(����)

����
 four algebraic expressions here ..

(A) Express The 1st and 2nd expressions in the form of common denominator                   2

(B) 3rd expression+2nd expression-1st expression=0 4

(C) What is the simplifying form of (2nd expression ÷ 3rd expression ÷ 4th expression)  4

Solution :

(A) Here , the 1st expression =
�

������

and the 2nd expression =
�

������

∴ L.C.M. of the denominator of the 1st and the 2nd denominator = (1 + x + x�)(1 − x + x�)

∴
�

������
=

������

(������)(������)
=

������

������	

∴ The 1st and the 2nd expressions in the form of common denominator: 
������

������	
, 

������

������	



(B) Here, the denominator of 3rd fraction = 1 + x� + x�

= 1� + 2x� + x� � − x�

= 1 + x� � − x�

= 1 + x� + x 1 + x� − x

= (1 + x + x�)(1 − x + x�)

L.H.S. = 3rd expression+2nd expression-1st expression

=
��

������	
+

�

������
−

�

������

=
��

(������)(������)
+

�

������
−

�

������

=
����������������

(������)(������)

=
�����

������	
=

!

������	
= 0 = R. H. S.

So, 3rd expression+2nd expression-1st expression =0 (Showed)
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(C) Here, 2nd expression=
�

������

3rd expression =
��

(������	)
=

��

(������)(������)

4th expression =
��� ��(����)

����
=

������������

(���)(������)
=

���

��� ������
=

�

������

Here, 2nd expression ÷ 3rd expression ÷ 4th expression 

=
�

������
÷

��

(������)(������)
÷

�

������

=
�

(������)
×

(������)(������)

��
×

(������)

�
=

������ �

��
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Q.5 । M = p� − pq + q�, N = p� + pq + q�, R = p� + p�q� + q� and S = p- − q-

[Ctg. B.2019]

A. What is the lowest form of  
.���.���

.��/.���
? 2

B.  
�

0
−

�

1
−

�23

4
=? 4

C. 
�

1
−

�

0
+

2�3�

5
=?                     4

Solution:

(A) Given expression  =
.���.���

.��/.���
=

.��6.�7.���

.��6.��.���
=

. .�6 �7(.�6)

. .�6 ��(.�6)
=

.�6 (.�7)

.�6 .��
=

.�7

.��

The value of the lowest form is  
.�7

.��
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(B) Here, M = p� − pq + q�, N = p� + pq + q�, R = P� + p�q + q�

∴
�

0
=

�

2��23�3�

�

1
=

�

2��23�3�

�23

4
=

�23

2	�2	3��3	

Here, R = p� + p�q� + q� = p� + 2p�q� + q� � − p�q�

= p� + q� � − pq � = p� + q� + pq p� + q� − pq

Given expression =
�

0
−

�

1
−

�23

4
=

�

2��23�3�
−

�

2��23�3�
−

�23

(2��2��23)(2��3��23)

=
2��23�3��2��23�3���23

(2��23�3�)(2��23�3�)
=

!

(2��23�3�)(2��23�3�)
= 0 (Ans)



(C) Given, M = p� − pq + q�, N = p� + pq + q�, S = P- − q- 

Here, S = P- − q-

= p� 7 − q� 7 = (p� − q�)(p� + p�q� + q�)

= (p + q)(p − q)(p� + pq + q�)(p� − pq + q�)

Given expression =
�

0
−

�

1
−

2�3�

5
=

�

2��23�3�
−

�

2��23�3�
+

2�3�

29�39

=
2��23�3��2��23�3�

(2��23�3�)(2��23�3�)
÷

2�3�

(2�3)(2�3)(2��23�3�)(2��23�3�)

=
�23

(2��23�3�)(2��23�3�)
×

(2�3)(2�3)(2��23�3�)(2��23�3�)

2�3�
 =

��(2�3)(2�3)

23
=

��(2��3�)

23

∴ :ℎ< =>?@< AB 
��(2��3�)

23
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POLL - 1 

�2�3�

7C
×

-C�

�2�3�
= ?  [Sylhet. Board: 14]

(a) pq (b) qr

(c) pr (d) pqr
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POLL - 2 

7��

�.
÷

�D�

�/E�
=? [J. B: 16] 

(a) 
�/E��

G.D
(b) 

�/E��

G.D

(c) 
�/E��

G.D�
(d) 

�/E���

G.D�

Previous Homework



POLL - 3 

�

D
+

D

�
− 1 ÷

��

D�
−

�

D
+ 1 What is the simplifying form of these fractions? [S. B: 18]

(a) 
�

D
(b) 

D

�

(c) 
D�

�
(d) 

�

�
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আসসালাম ুআলাইকুম
Chapter– 6.1

Simple Simultaneous  Equation

TAHSIN ANJUM



What will we learn from 6.1?

Simple

Simultaneous

equation

Substitution

Method

Elimination

Method



Simple simultaneous equation

X+Y=5 is an equation . Here x and y are two unknown expressions and variables . The

variable are of single power . This is an example of simple equation . Here,the pair of

numbers whose sum is equal to 5, will satisfy the equation.

For example , the equation will be satisfied by an infinite number of such pairs of

number x=4,y=1 ;or x=3,y=2 ;or x=2,y=3 ; or x=1,y=4 .



Simple simultaneous equation

Here, if we consider the equations x+y=5 and x-y=1, both equations are simultaneously

satisfied by x=4 and y=1 . If two or more equations connected by the same set of

variables , the equations are called simultaneous equations , and if each of the variable

is of one dimension , they are known as simple simultaneous equations.



The values of the variables by which equations are satisfied simultaneously, are called

the roots or solution of simultaneous equations . Here , the equations x+y=5 and x-y=3

are simultaneous equations . Their only solution is x=4,y=1 which can be expressed by

(x,y)=(4,1)

Simple simultaneous equation



POLL - 4

What is the dimension of this equation 2x + 3y = 10 ? [J. B.-17]

(a) 1 (b) 2

(c) 3 (d) 4

Simple simultaneous equation



POLL - 5

Simple simultaneous equation

Which eqution is satisfied for these values of the variables (x, y) =  (3,4) ?

(a) x + y = 6 (b) x + y = 5

(c) x + y = 7 (d) 2x + 4 = 7



Method of solution of simple simultaneous equations

Here , The following two methods of the solution of simple

simultaneous equations of two variables have been discussed .

(1) Method of substitution.

(2) Method of Elimination.



Method of substitution.

Applying this method, we can solve the equations by following the steps below 

(1)From any equation , express one variable in terms of the other variable.

(2)Substitute the value of the obtained variable in the other equation and solve the 

equation in one variable .

(3) Put the obtained value in any of the given equations to find the value of other variable 

.



Example
Example-1: solve the equations :

x + y = 7

x − y = 3

Solution: given equations are ,

x + y = 7 ………(i)

x − y = 3 ………(ii)

Now,

x = y + 3 ………(iii)

From (iii) putting the value of x in (i) we get,

y + 3 + y = 7

or, 2y = 7 − 3

or, 2y = 4

∴ y = 2

Here, putting y=2 in equation (iii) we get ,

x = 2 + 3

∴ x = 5

Required solution is x, y = (5,2)



Example

[If we put x=5 and y=2 in both the equations , L.H.S of (i) is 5 + 2 = 7 =R.H.S. and 

L.H.S of (ii) 5-2=3=R.H.S.]



Exercise 
5:-  3x − 2y = 0

17x − 7y = 13

Solution: The given equations are , 

3x − 2y = 0 …………(i)

17x − 7y = 13 ……..(ii)

Now,

3x = 2y

Or, x =
�D

7
 … … … … … iii

From(iii) putting the value of x in (2) we get ,

17.
�D

7
− 7y = 13 or, 

7�D

7
− 7y = 13 or, 

7�D���D

7
= 13

or, 
��7D

7
= 13 or, 13y = 39 or, y =

7W

�7

∴ y = 13

Now,  putting the value of y = 3 in (3) we get ,

x =
�×7

7

∴ x = 2

Required Solution is x, y = (2,3)



POLL 6:

What is the solution of these equations 2x + y = 5 and 2y = 6 ?    [S.B.-18]

(a) (1,3) (b) (3,0)

(c) 
7

�
, 2 (d) 2,

7

�



Method of Elimination

Apply by this method , we can solve the equations by following the steps below:

(1) Multiply both the equations by two such separately so that the coefficients of one

variable become equal .

(2) If the coefficients of a variable are of the same opposite sign , subtract or add the

equations. The equation after subtraction (or addition) will be reduced to an

equation of one variable .

(3) Find the value of a variable by the method o solution of simple equation .

(4) Put the value of a variable of the variable in any one of the given equations and find

the value of the other variable .



Exercise
13: x − y = 4

x + y = 6

Solution: the given equations are 

x − y = 4 … … … … … i

x + y = 6 … … … … … (ii)

2x      = 10(by adding)

Or, x =
�!

�

∴ x = 5

Putting the value of x in equation (ii) we get ,

5 + y = 6

Or, y = 6 − 5 = 1

Required solution is x, y = (5,1)



Exercise
16:  3x − 2y = 5

2x + 3y = 12

solution: the given equations are 

3x − 2y = 5 … … … … . . (i)

2x + 3y = 12 … … … … . . (ii)

Multiplying equation (i) by 3 and equation (ii) by 2, we get 

9x − 6y = 15 … … … … … … . (iii)

4x + 6y = 24 … … … … … … . (iv)

13x        = 39 (by adding )

Or, x =
7W

�7

∴ x = 3

Putting the value of x in equation (ii) ,we get

3.2 + 3y = 12 Or,6 + 3y = 12 Or, 3y = 12 − 6

Or, 3y = 6 Or, y =
-

7
Or, y = 2

∴ y = 2

Required solution is x, y = (3,2)



POLL - 7

If x + y = 5 and x − y = 7 , then (x, y) =? [R. B.-18]

(a) (6,1) (b) (6, −1)

(c) (1,6) (d) (−1,6)



Creative question:

Q-7: A =
�

�
+

�

D
, B =

�

�
−

W

D
, C = x − y, D = px + qy.

(a) If C = 2, x + y = 6 , then find the value of 4xy . 2

(b) If A = 1 and B = −1 ,find the value of (x, y) using the method of subtraction. 4

(c) If C = 2p and D = p� + q� , find the value of (x, y) using the method of

elimination. 4




